ENE

M U LTI BRACKET S

M Public Video Wall Stand 8-Screens 40-55”

O ¢ad ©da s 50 | hoag
@ Gulvstativ

® Bodenstander

® Emidatmrédia Baon
® Floor Stand
® Soporte de suelo

© Lattiateline

© Socle au sol

® Supporto da terra

® Gulvstativ

® Podstawa na podtoge
® HanonbHas noacTtaBka
® Golvstativ

® Zemin Sehpasi

® & ih 52

www.multibrackets.com



e T il bl RN U S Bl el e RIS S el e S A
q.,_.)s-J.....;“-a.--J...HJ,s.

il i AN el S et B i kel i La

VIGTIGT!

Din plasmaskaerm, LCD-skaerm, lv projektor, projektorskeerm eller andet HiFi-udstyr
repraesenterer en betydelig vaerd

Hvis der medfaiger skruer, passer «de muligvis ikke til materialet | vaaggen, loftet eller
gulvet.

Udskift skruame med passende skruer, hvis det er nedvendigt.

Hvis du er i tvivi om noget i forbindelse med monteringen af produktet, skal du kontakte
en ekspert.

ACHTUNG!

Ibr Plasma-, LCD-, TV-Gerdt, Ihr Projektor, Ihre Leinwand oder sonstige HIFi-Ausristung
stellt einen betrichtlichen Wert dar.

Die icherweise im L

filr das Material ihrer Wénde, Dacken odaer B5den geeignat.
Ersetzen Sie sie bei Bedarf durch gesignete Schrauben.

sind unter Umsténden nicht

Wenn Sie beziiglich der Montage des Produkts unsicher sind, wenden Sie sich an einen
Fachman

ZHMANTIKO!

Ol mAzopaorg Plasma, LCD, o kavovikig TAzopaoig, of oBoveg TpoBohiwv i alheg
ouoxeuig HiFi éxouv pia afoonueiwn afia.

Av TepihapBavovian BiSieg iowg va pnv eival kaTaAANAES yio TO KO Tou ToixXou, Tou
TARAVIO 1} TOU TATIWHATGS T,

AvTikaTooTAOTE TG Biieg pE KkaTGAANAES av eival arapaitno.

I TrepimTwon ou Sev £i0TE Tiyoupo! Yo KATIOIEG {TAPATA GXENKA PE TNV
TPOOGRTNEN auTol Tou TPGIGVTOS, Tapakahouue gupBoulsutsite évay aifing,

IMPORTANT!

Your Plasma, LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or

floor.
Replace the screws with suitable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional,

IMPORTANTE

Los equipos de plasma o LCD, los televisares, proyectores y pantallas de proyeccion,
asi como olres equipos de alla fidelidad suponen una inversién considerable,

Si incluyen tornillos, puede que no sean adecuados para el material del que estén
formados la pared, el techo o el suelo.

Sustituya estos tornillos por olros mis adecuados si es preciso.

Si no esta seguro sobre cualquier aspecto del montaje de este producto, consulte a un
profesional.

TARKEAA!

Plasma- tai nestekidendyttdjen, televisioiden, projektorien ja niiden valkokankaiden sekd
muiden hifi-laitteiden arvo on huomattava

Laitteen mukana toimitettaval ruuvit eivél valildmattd sovellu seinien, katon ai latlian
materiaaliin.

Korvaa ne tarvittaessa sopivilla ruuveilla.

Mikali olet epdvarma mista tahansa tdman tuotteen kiinnittamiseen liittyvasta seikasta,
ofa yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma, LCD, télévisions, projecteurs, écrans de projection ou autre matériel
Hi Fi ont une valeur considérable.

Les vis fournies peuvent ne pas étre compatibles a la nature de vos murs, plafonds et

sols.
Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un profes-
sionnel.

IMPORTANTE!

| vostri plasma, LCD, TV, proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-
presentano un notevele investimento.

Le viti in dotazione potrebbero rivelarsi non adatte per il materiale della parete, del sof-
fitto o del pavimento.

Sostituitele quindi con viti pill idonee in caso di necessita.

Nel casa riscontriate problemi nel mentaggio di questo prodetio, consultate un tecnico
specializzato.

VIKTIG!
Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig

wverdi.

Hvis skruer felger med, er det ikke sikkert at de passer til materialet i veggen, taket eller
gulvel.

Byt skruene | skruer som er egnet om nadvendig.

Hvis du er usikker nar det gjelder montering av dette produktet, ma du kontakte en
profesjonell.

UWAGA!

Monitor plazmaowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzet HiFi
stanowi znaczng wartost.

Jesli dolaczono do niego gruby mocujace, moga one nie byé odpowlednie do materialu,
z kitrego wykonane sa dane Sciany, sufit lub podioga.

W razis potrzeby nale2y je zastapié odpowiednim| Srubami.

W razie ia tego nalezy
zasiggnaé porady u specijalisty.

BHUMAHWE!

Kanim Bl HiFi Bist My Gyas TOT A, KK unu

CTaHOAPTHEIA TENEBMI0P, NPOEKTOP MM NPOSKUMOHHEIA JKDAH, - BCE OHW NPEACTABNSIOT
IHAYUTENEHYIO UBHHOCTS,

He BCeria KpenneHA, NPUNaraeMble B KOMINEKTE, MOAXOAAT K MaTapUany BallMX CTEH,
NOTOMNKA UMK Nona.

Mpw W ux Ha Gonee

Ecnw y Bac €CTs KasMe-NnGD COMHEHWA OTHOGHTENBHD TOTO, KAK KPEMWT AAHHEIA
npoayKT, ficTa, NpoKo! i ¥y

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor,
representerar et ansenligt varde.

Om skruvar medftljer utrustningen &r det inte sékert att de passar for materialet i vig-
gen, taket eller golvet!

Byt ut skruvama mot lampliga skruvar om 53 krévs.

Kontakta en expert om du &r osaker pa nagot | samband med monteringen av produk-
ten,

eller annan HiFi-

ONEMLI!

Plazma, LCD, TV, Projektor, Projektdr Ekraniniz veya diger HiFi cihaziniz son derece
degerlidi,

Birlikte verilen vidalar duvar, tavan veya daseme techizatiniza uygun olmayabilir,
Gerektiginde vidalan uygun clanlarla degistirin.

Bu driintin monte sekilleri ile ligili sorunlariniz olmasi halinde bir uzmandan yardim alin.

EERR

EHSEF. LCD. TV. BEL. BEURFRRT HF SESERTEGNHE.
MERWERT |, CNTRTESEORE, XRARBIE.

NERME  WARTERS ELNTE,

mEHF>EEROEFATEHERE , REATLAR.

WARRANTY CARD

MULTIBRACKETS.C@OM

MULTIBRACKETS ™ Limited Warranty
Multibrackets warrants its products to be free of defects in

material and workmanship for the product’s Warranty Period.

The Warranty Period commences on the original purchase
date of the product.

All Multibrackets products are covered
by a limited product warranty:

« FIVE (5) years for metal video monitor mounts; all racks
and non-electrical rack accessories

+ ONE (1) year for all motorized and/or automated products,
plastic speaker mounts; all speaker stands; all furniture; all
wood (MDF) accessories

For warranty claims made during the Warranty Period, MULTI
BRACKETS will replace any defective product part free of charge.
Should a part on your Multibrackets product fail, please create an
RMA case on www.multibrackets.com/support to make a warranty
claim. We will await your documentation and then discuss the
problem with you and once we confrm the product is under war-
ranty, we will ship replacement parts to you. This Limited Warranty
does not cover the costs of removing and replacing defective parts
from your Multibrackets product. So, if your problem requires a
repair technician, you must pay any labor charges.

This Limited Warranty extends only to the orlgmal purchaser
of the product and is void if your
product is modifed in any way, improperly installed, taxed beyond
its stated weight capacity or otherwise misused or abused. All
Multibrackets products are intended for indoor use only and any

outdoor use voids this Limited Warranty. The Limited Warranty for
wall and ceiling mounts is void if the mount is moved from its initial
installation. To the maximum extent permitted by applicable law,
Multibrackets disclaims any other warranties, express or implied,
including warranties of ftness for a particular purpose and war
ranties of merchantability. Multibrackets will not be liable for any
damages whatsoever arising out of the use or inability to use its
products, even if Multibrackets has been advised of the possibility
of such damages. To the maximum extent permitted by applicable
law, Multibrackets disclaims any responsibility for incidental or
consequential damages.

Multibrackets ™ Stockholm Sweden 2014,
www.multibrackets.com

www.multibrackets.com




1PCS

1PC

S

2PCS

8PCS 1PCS
\
6PCS 6PCS 16PCS 4PCS
4PCS 16PCS

B E i F
M8X15 M8X25| M8X25 M8X20 M8 M8X25 M6X25 M5X15 M4X15
32PCS 32PCS 40PCS| 8PCS spcs 36PCS 36PCS 32PCS 32PCS 32PCS 32PCS 32PCS
G
4mm

S &

M8 M6 M5 M4 / /

32PCS  32PCS  32PCS  32PCS

2PCS 2PCS

1PCS

1PCS

www.multibrackets.com




www.multibrackets.com



www.multibrackets.com



www.multibrackets.com



)
1.

s DeEoa

www.multibrackets.com



www.multibrackets.com



el

]

o
5

www.multibrackets.com



www.multibrackets.com



www.multibrackets.com



10

Depth adjustment 15mm

www.multibrackets.com



11

www.multibrackets.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

